Run 5997 quartetwise, Asyms0 (Raw): All Run 5997 quartetwise, Asyms0 (Raw): Beam OFF

quartetwize_asymi _ quanebwise_beamDd_asymib
— i A0T0E 24000 — i 234659
40000 = _ E‘nlnes. 81 5 - _ Enlries
— gan . 25000 — Mean 2477
— Sid Daw  4.135e+04 — Sid Deyw  5.344e+04
35000 — 20000
20000 :_ 18000 —
- 16000 —
25000 14000 =
20000 12000 —
— 10000 —
15000 = 8000
10000 6000 |—
- 4000 —
5000 — —
— 2000 —
'D [ 1 | | | | |_|_| | | | | | 1 | | | | | | | 1 | | | }‘;1 ﬂa 'D - 1 | | | | |_|_| | | 1 I | | 1 | | | | I | | 1 | | K-Iﬂa
—2000 0 2000 4000 6000 8000 —2000 0 2000 4000 G000 8000
gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.438387) gHelNSamples0)/|PosHelAceO/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 0.438387)
Run 5997 quartetwise, Asyms0 (Raw): Beam ON, Laser ON Run 5997 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
guamsiwiza boami las? asymib guamnshsiza boami lasl asymi
- _ Entries 6807 BO00 — _ Entries 5872
6000 — Mean -40.17 [ Mean 185.7
B Sid Dav  1.207e+04 B Sid Dew  1.557a+04
— 5000 —
5000 — N
- 4000 —
4000 — u
4000 u 3000 —
2000 — 2000 —
1000 s 1000 :—
ID_III|III|III|III_.J_|III|III}{1:}3 .D_||||||||||||||_..|_._|||||||||||||||||||:!l--1'||l:i|::1I
—600 —400 —200 D 200 400 —600 —400 —200 0 200 400 800 BOO

gHelNSamples0})/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 0.438387) gHelNSamples0}/|{PosHelAcel/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 0.438387)



Run 5997 quartetwise, Diffs0: All Run 5997 quartetwise, Diffs0: Beam OFF
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Run 5997 quartetwise, NegHelAccO/NSamples0: All
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Run 5897 quartetwise, NegHelAccO/NSamples(: Beam OFF
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Run 5997 quartetwise, PosHelAccO/NSamplesC: All
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Run 5987 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5997 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser OFF
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Run 5997 quartetwise, Sums0: All Run 5997 quartetwise, Sums0: Beam OFF
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